
SKU:N780P224409

Not for commercial use. For residential use only.

Furniture may scratch floors.  We recommend using 
         furniture pads to protect your floors.

 Do not put hot items directly on furniture surface.

 Do not clean furniture with harsh cleansers or polish.

Do not place furniture under direct sunlight.            

Do not place furniture near heating or cooling vents.

 Do not write on furniture without a padded barrier to 
         protect the surface.

Do not place furniture outside . For indoor use only.

Stains may be removed with mild soap solution and 
          damp cloth.

Children should not climb or jump on the furniture.

Dust and pick-up spills using a clean, non-colored, 
      

Caution : You must read this before you proceed 

Care & Maintenance

            

           

          

          

           

           

          

           

            

            

            

●

●

●

●

●

●

●

●

●

●

●

   lint-free cloth.

                  
             
Please look in footbox for hardware packs and legs.



  

CHAIR



Label Picture Description QTY

QTY

A

Label Picture Description

B

C

D

①

②

③

④

⑤

⑥ 

⑦

Chair

Front Leg

Siderosphere

Rear Leg

M8×55mm

M8

M6

Flat washer

Spring washer

Spanner

Spanner

Screw

Screw M6×35

Screw M8×65mm

mm

1

1

2

2

9

9

1

1

5

5

5



Chair

Spring washer
M8×55mm

Flat washer Spanner(M6) Spanner(M8) Screw Screw
M6×35

Screw
M8×65mm mm

           
             

            
           

 

Overview

            
   

as multiple parts and may require up to some  20 This chair h minutes to
  assemble. To give you an overview of the 4 parts, the above picture is 

to help you put the various parts into perspective. Please read through
the instructions below to familiarise yourself with the parts and steps
before assembly.

Before
  Beginnin

g
 

 

Assembly
:

A SiderosphereB Front LegC Rear LegD

×9 ×9 ×1 ×1 ×5 ×5 ×5

① ② ③ ④ ⑤ ⑥ ⑦

Chair

Front Leg

Siderosphere

A

C
D  Rear Leg

B



1

  Before installation, insert the screws into the holes and 
tighten them, but do not tighten them to 100%. 70% to 80% 
is sufficient. 
  Finally, if all four legs of the chair can touch the ground 
without shaking. tighten all screws to 100%.
   If you encounter these issues, such as if the holes cannot 
be aligned or some parts cannot be installed, please check if
 the screws are used correctly and adjust the tightness of 
the screws.



2

M8×65mm

M8×55

5

1
2

4

M8×55mm

M8

4

4

4

1

5

2

4

* When installing,the  
   screws are perpendicular 

   to the seat cushion 
   frame!

* Use shorter screws ⑤ in  
   this step
* Do not fully tighten only 
   to 80% at this stage!



3

4

M8×65

M6×35mm

M8×55mm

6

1
2

4

7

1
2

3

M8×65mm

1

6

2

4

M6×35mm

1

7

2

3

* Use longer screws⑥ in this 
  step.
* Donot fully tighten only to 80% 
  at this stage!

* Use screws ⑦ in this 
  step.
* Do not fully tighten only to 80%
   at this stage.



5

⑤⑥

Somedays after initial assemblythe product
can get used to theto get used to the new
environment. Pleasemake sure that all

⑦

screwsscrews are still100% tightened.

④

③


